3-3 HEEFEBAR: BFEH - BRFEK

<FTHE>
EZ0 28 20225 & 20235 20245 &
' OE F £ % (A) 260 272 2814
e 4 3L B EFE &E K (B) 17 25 32
% £ BEZ (B) / (A) *100 6.5 9.2 1.3
L # 5 5 R % % &% (C) 8 4 3
BEHE (C) / (A) *100 3.1 1.5 I
' OE Z £ % (A) 260 272 2814
> b B E &E B (B) 17 25 32
B BER (B) / (A) %100 6.5 9.2 1.3
36 B ¥ H K (C) 8 4 3
BEHR (C) / (A) *100 3.1 1.5 I
. £ B ¥ £ B (A) 1,318 1,297 1,313
i 5 t B & % % (B) 82 87 6
2 BEx (B) / (A) *100 6.2 6.7 7.3
P 36 B ¥ H K (C) 26 19 16
BREHR (C) / (A) *100 2.0 1.5 1.2
' E ¥ £ % (A) 308 320 326
# 3L B F HE K (B) 40 39 31
¥ BER (B) / (A) %100 13.0 12.2 9.5
o 5> b B ¥ & K (C) 5 18 3
BEHR (C) / (A) *100 1.6 5.6 4.0
x T OE ¥ £ % (A) 298 296 282
‘ #i 3L B F H K (B) 20 29 16
= S BEF (B) / (A) %100 6.7 9.8 5.7
. pre 36 B ¥ H K (C) 4 3 2
S EFE (C) / (A) *I00 1.3 1.0 0.7
< ' E ¥ £ % (A) 509 509 533
1t 3 b B F H K (B) 24 26 35
® BEF (B) / (A) *100 4.7 5.1 6.6
F 5> b B ¥ & K (C) 8 4 7
# BEE (C) / (A) *100 .6 0.8 I
' E ¥ £ % (A) 538 527 543
E 3 b B F H K (B) 19 21 28
2 BEF (B) / (A) *100 3.5 4.0 5.2
B 36 B ¥ H K (C) I 7 8
BER (C) / (A) *100 2.0 1.3 1.5
" E ¥ 4 B (A) 2,971 2,949 2,997
I3 b B F H K (B) 185 202 206
3 BEF (B) / (A) *100 6.2 6.8 6.9
36 B ¥ H K (C) 54 51 46
BEL (C) / (A) *100 1.8 1.7 1.5
X " E ¥ £ K (A) 379 384 375
# > 5t @& % B (B E 22 7
; BE= (B) / (A) *100 5.0 5.7 4.5
B 36 B ¥ H K (C) 4 2 5
s BFR (C) / (A) *l00 I 0.5 1.3
X " E ¥ £ K (A) 383 396 400
& ;ﬁ 5> 5 B & Z B (B) B B 9
N ﬂ:; BE= (B) / (A) *100 4.7 4.5 4.8
¥ it 36 B ¥ H K (C) 6 6 0
o BEL (C) / (A) *100 1.6 1.5 0.0
" N " E ¥ £ B O(A) 371 387 360
> 3 B EHF K (B) 23 22 12
B A B Fx (B) / (CA) %100 6.2 5.7 3.3
7 306 R FH K (C) 4 7 2
ﬁ#i (c) / (CA) *100 I 1 1.8 0.6

-125-




SR 2] 20225 20235 2024 FE
' E ¥ £ ¥ O(A) 368 353 383
. #ﬁi O b 8 F & B (B) 18 q 18
it gﬂg BE®E (B) / (A) *100 4.9 2.5 4.7
~ 1% 5 b iR F & #H (C) 4 5 |
= BFE&E (C) / (A) %00 1 1.4 0.3
- " ' E ¥ £ ¥ O(A) 311 313 333
%5 3 b B EFE &E B (B) 16 I 13
0 P gEE (B) / (A) %100 5.1 3.5 3.9
1t 5 6 R #F (D) 2 4 2
BEHER (C) / (A) *100 0.6 1.3 0.6
' E ¥ £ ¥ O(A) 1,812 1,833 I, 85l
YL B F H K (B) q4 82 79
5 BER (B) / (A) %00 5.2 4.5 4.3
3 b R F HE K (C) 20 24 10
BEHE (C) / (A) *100 I 1.3 0.5
R ' E ¥ £ % (A) 2,636 2,678 2,752
; > b B F H K (B) 149 99 122
" s BEER (B) / (A) *I00 5.7 3.7 4.4
¢ # 306 B F H K (C) 34 30 34
2 BEHE (C) / (A) *100 1.3 I.1 1.2
" E ¥ £ % (A) 863 850 860
0 ff Db B F & ¥ (B) 50 31 51
’; BE®E (B) / (A) *I100 5.8 3.6 5.9
£ 3 b R F HE K (C) 8 5 I
BEHE (C) / (A) *100 0.9 0.6 1.3
" E ¥ £ B O(A) 3,499 3,528 3,612
3L B F H K (B) 199 130 173
3 BEF (B) / (A) *100 5.7 3.7 4.8
906 R F H K (C) 42 35 45
BEHE (C) / (A) *100 1.2 1.0 1.2
" E ¥ £ B O(A) 3,622 3,681 3,759
E E 3L B F H K (B) 176 158 196
2 2 BHERX (B) / (A) %100 4.9 4.3 5.2
o # 36 B ¥ HF K (C) 49 38 38
BEHR (C) / (A) *100 I 4 1.0 1.0
" E ¥ £ B O(A) 3,622 3,681 3,759
3L B F H K (B) 176 158 196
5 BEF (B) / (A) *100 4.9 4.3 5.2
36 B ¥ H K (C) 49 38 38
BEL (C) / (A) *100 I 4 1.0 1.0
' OE ¥ £ % (A) 3,621 3,616 3,641
i ] 3L B F HE K (B) 160 155 146
= ¥ BE#F (B) / (A) %100 4.4 4.3 4.0
i el 5 5 B ¥ & &K (C) 21 24 25
BEL (C) / (A) *100 0.6 0.7 0.7
' OE ¥ £ % (A) 3,621 3,616 3,641
3L B F HE K (B) 160 155 146
3 BE#F (B) / (A) %100 4.4 4.3 4.0
36 B FH K (C) 21 24 25
BEL (C) / (A) *100 0.6 0.7 0.7
" " " E ¥ 4 B (A) 1,719 1,787 I,776
. % 3L B F H K (B) 52 56 56
2 2 BEF (B) / (A) *100 3.0 3.1 3.2
o # 36 B FH K (C) 8 4 8
BEL (C) / (A) *100 0.5 0.2 0.5
" E ¥ £ K (A) 1,719 1,787 1,776
36 B FE H K (B) 52 56 56
3 BEE (B) / (A) *100 3.0 3.1 3.2
36 B ¥ H K (C) 8 4 8
BEL (C) / (A) *100 0.5 0.2 0.5

- 126 -




20225 20235 20245 FE

' E ¥ £ ¥ O(A) I, 240 1,237 1,272

>t B EFE &E B (B) 67 52 58

BER (B) / (A) %00 5.4 4.2 4.6

3 b R F H K (C) 16 18 17

BREHE (C) / (A) *100 1.3 1.5 1.3

' E ¥ £ ¥ O(A) I, 240 1,237 1,272

> b B EFE &E B (B) 67 52 58

BER (B) / (A) %00 5.4 4.2 4.6

306 R F H K (C) 16 18 17

BREHE (C) / (A) *100 1.3 1.5 1.3

' E ¥ £ ¥ O(A) 329 352 354

YL B F H K (B) 13 q 17

BEx (B) / (A) *100 4.0 2.6 4.8

3 b R F H K (C) 4 6 4

BEHR (C) / (A) *100 1.2 1.7 I

' E ¥ £ % (A) 343 350 359

YL B F H K (B) 8 13 q

BER (B) / (A) %00 2.3 3.7 2.5

3 b R F H K (C) 5 2 3

BEHR (C) / (A) *100 1.5 0.6 0.8

o " E ¥ £ % (A) 306 310 328
K YL B F H K (B) 13 12 q
T BER (B) / (A) %100 4.2 3.9 2.7
F 5> b B ¥ & K (C) 5 10 3
# BEE (C) / (A) *100 .6 3.2 0.9
o ' OE ¥ £ % (A) 333 342 363
T 3L B F H K (B) 13 12 q
T BEZ (B) / (A) *100 3.9 3.5 2.5
Z 5> b B ¥ & K (C) 8 8 2
# BEE (C) / (A) *100 2.4 2.3 0.6
R " E T £ B (A) 451 448 469
1;% 5 5 B & %% (B) 23 18 30
#%m BEF (B) / (A) *100 5. 1 4.0 6.4
LA 5> 5 B ¥ &K (C) 12 7 5
BEE (C) / (A) *100 2.7 1.6 3.2

" E ¥ £ B O(A) 303 314 288

3L B F H K (B) 12 20 17

BEF (B) / (A) *100 4.0 6.4 5.9

36 B FH K (C) 5 6 6

BE#L (C) / (A) *100 1.7 1.9 2.1

' OE ¥ £ % (A) 313 333 350

3L B F H K (B) q I 15

BEF (B) / (A) *100 2.9 3.3 4.3

36 B FHE K (C) 6 6 5

BEHL (C) / (A) *100 1.9 1.8 I.4

" E ¥ 4 B (A) 331 344 354

3L B F H K (B) 10 12 I

BEF (B) / (A) *100 3.0 3.5 3.1

36 B FHE K (C) 6 2 8

BEHL (C) / (A) *100 1.8 0.6 2.3

" E ¥ 4 B (A) 192 193 205

3L B F H K (B) q 4 5
%é’ﬁﬁi(s)/(A)*mo 4.7 2.1 2.4

36 B FHE K (C) I 4 4
ﬁ#i(c)/(A)*mo 0.5 2.1 2.0

-127-




A MmN E

i
4 Y _|® _
= e e e R i S R e S 2 e e e e ST ] S g o S o g
o~
i
Ev o _ o
o e e el S o < R o e 4 1 B 4o ] 4 B 1 o B ] e
~N
i
I = s = =
3 e = o e e B ] o] (8 o] e S R e S e e M Rt o e
~N
o o o o o o o o o o o o o o o o o o o o o o o o
Sl ot o 8 3 o Dl e 0 3 o D el i D o 3 S el Dt i 8 3 R R B R el e e
[T T <~ T < [T < T < T < e T T < = T [ T e T < T e T < T e e T e T e e T e T e [ 0 e T e I T e T e e T ) 7 |
F TR BT BT e 8 T 18 T o B T8 T | [ 1T 1 1 e 18 18 [ e [ T8 | e 88 1188 1 e 1 [ [ e [ 1T 8 T e 18 T 18 T | [
& & & & Eiod & & & Erod Erod & Erot
Y N N N T N N N N N T N D L NN L NN N
o B[O o B[O o B[O o B[O o B[O 4o B[O o 3o o 2 |O | |dh (O | |dh (O | |dh (O | |dh (O
- B $% B $% B $% B $% B $ﬁ B $ﬁ B $ﬁ B $% B $% B $% B $% C AL
O b |1 [ [ L [ e [ b | e e [ [ L [ e [ b {1 e [ L 1 (e [ P | e P e R (e L [ (e [ b | e | [
o [BE o = |44 | |BE | |2 4 | |88 | | =) {H | o |88 | o (=) [{H o [8E o [ (31 [ [BE [0 [ (4 [0 [BE [0 |2 {42 |0 |8E | | 4 | |BE | | 4 | o |88 o | (4 o [8E o (=) (4 o (8E o [
- & W ¢ K% — ao— =
E NN WMHSE |WEEHT | AK K W R F ks mood ] b -
T & T & D AN bR
ey Py iy i i
AN
= o o K% — D ) o SEe s
b 2oH & HE WM o I R 2 B E nooed | & —

- 128 -



EZTS 22 20224 FE 20235 20245 FE
" 7 " 7 EOE F £ % (A) 819 837 832
s 4 O g O >t B EFE &E B (B) 63 85 77
% '\\ . '\ BEZ (B) / (A) *100 7.7 10.2 9.3
{b/\ ﬂ:’\ ’\)‘51357-"%#( (c) 2 5 4
v v BEE (C) / (A) *00 0.2 0.6 0.5
E%ﬁfy‘-iiﬂz C A) 819 837 832
> b B EFE &E B (B) 63 85 77
Hi BER (B) / (A) %00 7.7 10.2 9.3
306 R F H K (C) 2 5 4
BREHE (C) / (A) *100 0.2 0.6 0.5
EOE F £ % (A) 25, 870 26, 166 26,514
YL B F H K (B) I, 259 1,229 l,283
&3t BER (B) / (A) %100 4.9 4.7 4.8
36 B ¥ H K (C) 315 305 288
BEHER (C) / (A) *100 1.2 1.2 I

-129-




<{ErREHREL L VELHRE>

R 523 20225 & 2023 20245 &
G ; 'OE Y £ B (A) 23 22 21
2 * 5 5 B & £ H (B) 0 5 5
2 ;_ BGEE (B) / (A) *100 43.5 22.7 23.8
% % 5 5 8 ¥ & & (C) | 0 2
# BFE (C) / (A) *100 4.3 0.0 7.5
' OEF £ % (A) 23 22 21
YL B F H K (B) 10 5 5
=t BEx (B) / (A) *100 43.5 22.17 23.8
5 5 8 2 H &K (C) I 0 2
BERE (C) / (A) %100 4.3 0.0 q9.5
o ' E ¥ £ % (A) 5 5 5
= Db B F &HE K (B) 3 3 [
; B&E=x (B) / (A) 100 60.0 60.0 20.0
% 5 b 8 2 H &% (C) I 0 [
BEE (C) / (A) *100 20.0 0.0 20.0
E ' £ ¥ £ % (A) 14 15 12
égi 5 6t & & % B (B) | 3 2
¢¢ BEF (B) / (A) *100 7.1 20.0 16.7
% 8 5 b E ¥ & B (C) 0 0 2
£ BFE (C) / (A) *100 0.0 0.0 6.7
2 % = B ¥ £ B O(A) 9 14 19
&1t 3 b B FE H K (B) I | 2
H % & BER (B) / (A) %100 .1 7.1 10.5
N - 5 b 8 2 H &K (C) 0 I 0
7T BEE (C) / (A) *100 0.0 7.1 0.0
ﬂ & ' E ¥ £ % (A) 10 8 10
X 5 b B FE H K (B) 0 | 0
=2 BEX (B) / (A) %100 0.0 12.5 0.0
& 5> b B ¥ & K (C) 0 0 2
E BFE (C) / (A) *100 0.0 0.0 20.0
ES T OB ¥ £ B (A) 6 q ]
g}f}‘ b B FE HE K (B) 0 0 [
% = BEER (B) / (A) *I00 0.0 0.0 9.1
fir > 5 R ¥ &K (C) 0 0 0
# BFE (C) / (A) *100 0.0 0.0 0.0
" E ¥ 4 % (A) 44 51 57
5 b B FE H K (B) 5 8 6
3 BHEX (B) / (A) %100 1.4 15.7 10.5
5 b 8 ¥ HE K (C) I I 5
BEE (C) / (A) *100 2.3 2.0 8.8
3t rEOE ¥ £ B (A) 12 13 16
g}% 5 b B £ % (B) 3 4 5
5 1B BHEER (B) / (A) *l00 25.0 30.8 31.3
itk 5 b R ¥ & B (C) | 0 0
# BFE (C) / (A) *100 8.3 0.0 0.0
i £ rEOE ¥ £ B (A) 14 q 7
N ﬁ_? 5 b B F % (B) 3 0 0
% BEE (B) / (A) *I00 21.4 0.0 0.0
- 7 5 b 8 2 HE K (C) 0 0 0
¥ # BFE (C) / (A) *100 0.0 0.0 0.0
s # rOE ¥ £ B (A) 4 q 8
g’é 5 b B F #H % (B) 0 I 0
% % X BFEE (B) / (A) *I00 0.0 .1 0.0
1t 5> b B ¥ & K (C) [ 0 0
# # BFE (C) / (A) %100 25.0 0.0 0.0
it EOE ¥ £ K (A) 18 15 15
& 5 b B £ FH % (B) I 0 5
Z BHEX (B) / (A) %100 5.6 0.0 33.3
& 5 5 B ¥ &K (C) 0 0 0
K BFE (C) / (A) *100 0.0 0.0 0.0

-130-




1
B e e e e T e N e R o e R e R e Y e R e e R e R e
S = = = =
o~
X
wm“oo000045300|25|8238005|q27ob6|35726.000|0|073|.|7|0000|0000
S50 Rl o P il =0 2 Gl I ) PR ECH R 15l I 0 R 6 P il O A 12 Bl gl PR R O g[S T |s | s[NIZ] T s = 2SS = 2 s]Cs
~N
RS
M._./OM.OM.%7”.2%._”ZWOMW4MOMW|”|NM7M|MWVZMOMWZHOMRA»“OMMZ“OMMZ“OM
N N = = =
o~
o o o o o o o o o o o o o o o o o o o o o o
<lo|Flo[*|c|o|*|o]|*|c|a|®|o]*|<c|o[F o |<c|o[®|o[*|<c|o|*|o|*|<c|o|*|o]|*|<c|a|*|o]|*|c|o|*|o]|*|c|o|[*|o|*|<|o|*|o|*
R lc e R lc e R lc e R le e R e e R le e e Il e e Rl el R e = = e < <
F TR o BT BT e 8 18 T o B T8 e BT 1 e 18 18 [ o [ 1T 18 | e |88 1188 T e 18 6 e [ 1T T e 18 |
ﬁ%/%/ﬁ%/%/ﬁ%/%/&%/%/&%/%/&%/%/&%/%/&%/%/ﬁ%/%/ﬁ%/%/ﬁ%/%/
e [ a0 [0 [ e [ 0 [0 | * o [ [0 [O [ e [ [0 [O | e [ [ [O ¥ i [ [ [O ¥t [ [se [ O [t [ [so [ O [ | v |G [ [ v (O [ | [ i [O
%tM%M%tM%M%%M%M%tM%M%%M%Mﬁ%M%M%%M%M%%M%M%%M%%%%M%M%%M%M
A e |8 | (2] (4 o |8 o | 4 o (B | o | (4 o |BE o [ |4 o (88 o | |4 (o (BE |0 | (oo |8 |0 (2 |48 o (B [0 | 4 o (BE |0 | (4 o |8 [ (2 4 o (8 o |
4 ¥ B EM M (2N
= it R B K [ B K [ B K it b E o K
S| R » - " e A I R T -

- 131 -



mZcRH 5 20226 & 2023 202445 E
B, . " E ¥ £ % (A) 66 59 64
AN AN > 585 £ B (B) 7 g 5
ﬁ& ;& BE®E (B) / (A) *100 25.8 5.3 23.4
91'% % bR FHE K (C) 4 5 |
# BFEE (C) / (A) *100 6.1 8.5 1.6
EOE ¥ £ % (A) 66 59 64
3L B F HE K (B) 17 q 15
g gEE (B) / (A) %100 25.8 15.3 23.4
306 R F H K (C) 4 5 [
BEHER (C) / (A) *100 6. | 8.5 1.6
X x EOE F £ % (A) 28 39 I
w1k gm YL B F H K (B) 4 5 0
% 1E ALl BEE (B) / (A) *I00 14.3 12.8 0.0
4 i 5 b R ¥ & B (C) 0 4 0
# # BFE (C) / (A) *100 0.0 0.3 0.0
T OE ¥ £ % (A) 28 39 44
> b B F H K (B) 4 5 0
BEx (B) / (A) *100 14.3 12.8 0.0
306 B F H K (C) 0 4 0
BER (C) / (A) %100 0.0 10.3 0.0
e EE Y £ B (CA) 158 163 146
§£ 3 6 8 £ % % (B) 2 7 5
¥ T BHEE (B) / (A) *I00 1.3 4.3 3.4
- 36 B FHE K (C) 3 | 4
BER (C) / (A) %100 1.9 0.6 2.7
. EE Y £ K CA) 146 159 132
ﬁg 3 b 8 £ % ¥ (B) 5 I 2
5= &5 BHEX (B) / (A) %100 3.4 0.6 1.5
% F 36 B ¥ H K (C) 3 I 3
T BEER (C) / (A) *100 2.1 0.6 2.3
" E ¥ £ B O(A) 185 205 226
2 g}ﬁ 5 5 8 & £ H (B) 2 5 7
¥ T BER (B) / (A) *I00 L 2.4 0.9
i - 5 b B ¥ EF K (C) 3 7 3
" BER (C) / (A) *100 1.6 3.4 1.3
7 £ E % £ & (A) 138 156 167
" g}{é‘ 55 B85 % B (B) i 2 |
% 1t BEx (B) / (A) *100 0.7 1.3 0.6
e~ 36 B ¥ H K (C) 2 I 4
BEE (C) / (A) *100 I 4 0.6 2.4
o ' E ¥ £ % (A) 38 38 32
*;f; 55 B & % B (B) 0 0 |
&= BEX (B) / (A) %100 0.0 0.0 3.1
K 5 36 B FH K (C) 0 I 0
BEE (C) / (A) *100 0.0 2.6 0.0
' E ¥ £ % (A) 665 721 703
3L B F HE K (B) 10 15 I
%ﬁi(s)/(A)wm 1.5 2.1 1.6
36 B FH K (C) I I 14
ﬁii(c)/(A)wm 1.7 1.5 2.0

-132-




i
lelol<lolalgla]l< =8 o | al«|Z= 2z« =2z = 1=l 2l = = Bz [~ 2= = g |~ | oo [N e Mo | [ B s = e |-
N (= ™ o | ™ o |~ ™ ~N - < | - < |~ [T} o |~ [T} o |®|[— |2 0 | — ™ o o~ | o~ 2|y8532
o~
4o
W@“@ ~N oo o Sl b © N o oo o o4 o o4 o 0../6/4.57../6/4. =~ oo ™ |eo 3%2353
g2 S ICH I 1P A PN X el PN o I gl P e P R e P e P e e 1t U ol Sl o R K Rl ol 1P S0 ol 0 R PSS L Il P I P M| s | |
~N
i
Kl < s o |5 ] E P o I P O L e P B D L O L e e P P e B O O L O R G 0 - Y
N o |° N ~N o < | o < |~ o o |~ o o |T— |2 | 4 | o~ |© 7|yoo532
o~
o o o o o o o o o o o o o o o o o o o o o o o o
~|Oo o —~|Oo o ~|Oo o —~|Oo o ~|Oo o —~|Oo o —~|Oo o ~|o |~ |O —~|Oo o —~|Oo o —~|Oo o~~~ ||~ |O
ol*[o|*|<|o[*|o]* |<|al®[o|F |<|o|®|o]* |<|o|® o |<|o|®|o[* |<|o[*|o|* |<|a|® o [F |<|o[*|o]* |<|a|* [o|F |<|o|*|o]* |<|a|* [o]*
< T <~ T [T = T < [T T < T < o T < T < e T T e T e T e e T < T [ e T e T | [ T e T e I T e T e T e T ]
Nl INEE L N N IN L N I N L N N TR IN L NI I N L N IR IN L NI I IR L N IR N [N
Ao Ao Ao Ao Ao i% i% i% Ao i% i% i% i%
(o (@) (o (@) (o §) | §) (o §) | §) | §) o 2 [O | |db (O | |db (O | |dh (O | |dh (O
T o o o ol = = o o o o 2 T D o e o o L e 2
ti M ti M ti M ti M ti i%%i i%%i i%%i%i%%i i%%i i%%i iﬁéi -
o b o b s i H i s i H b H b H b s b s b s g s g
o |BE | mum o |BE | mum o |BE | _\um\ o |BE | _\um\ o |BE | _\um\tw~7mm‘ E.ﬁw\ﬂ/mm‘ E.ﬁw\ﬂ/mm‘ﬁlﬁ.ﬁuﬁzmm‘ EEA}ME‘ EEA}ME‘ E.EA)WE‘ E

E &
#\\

K &xihy =7

?.
72
w & |

%
B8R ZF

g5

8 &

st

E

HEWENERT

~No—- 7= -

K ®ikhy — 7

G
7¢ 38
L

oo

ERE

-133-

>
o
A
oL

7”7

g2¥
L2=4

W R




<{ELREERHARE>

R 523 20225 & 2023 20245 &
tid ; 'OE Y £ B (A) 20 18 18
¥ ﬁ' Db B F EHE K (B) 14 12 12
& ; BGEE (B) / (A) *100 70.0 66.7 66.7
% % 5 5 R ¥ &% B (C) 3 2 3
# BFE (C) / (A) *100 5.0 IR 6.7
£ E ¥ £ % (A) 20 18 18
YL B F H K (B) 14 12 12
B BEE (B) / (A) %00 70.0 66.17 66.7
9 b R F #H B (C) 3 2 3
BERE (C) / (A) %100 15.0 Il 16.7
o " E ¥ 4 B (A) 2 | |
g 5 5 8 & & B (B) [ 0 0
; ZaE®E (B) / (A) %100 50.0 0.0 0.0
% 5 b H ¥ & B (C) 0 0 0
BEE (C) / (A) *100 0.0 0.0 0.0
% E BE ¥ £ B (A) 10 0 I
égi 5t & & % B (B) 4 4 3
$# BHEX (B) / (A) %00 40.0 40.0 27.3
% g - 5 b B ¥ & & (C) 4 2 |
& BFE (C) / (A) *100 40.0 20,0 7.1
2 E B 7 &£ B (A 4 5 I
gfé 558 &5 % K (B 6 6 5
B - BHEER (B) / (A) *l00 42.9 40.0 45.5
N 2 5 b H ¥ & B (C) 2 [ 0
7 BE®R (C) / (A) *100 14.3 26.17 0.0
H = 7& 2 ¥ 4% ﬁ, C A) 7 5 q
X 3 b B F & % (B) 6 3
= BEX (B) / (A) %00 85.7 60.0 33.3
& 5 6 B ¥ &K (C) [ 0
e BEE (C) / (A) *100 4.3 0.0 0.0
x EOE Y £ B O(A) 5 6 3
g_# 3 b B F & % (B) 4 4 |
% = BFEER (B) / (A) *I00 80.0 66.17 33.3
iy > 5B ¥ & K (C) 0 2 |
# BFE (C) / (A) %100 0.0 33.3 33.3
" B ¥ £ B O(A) 38 37 35
3L BE H K (B) 21 17 12
B BEE (B) / (A) %100 55.3 45.9 34.3
)b R F FH K (C) 7 8 2
BE®Z (C) / (A) *100 18.4 21.6 5.7
it " E F £ % (A) 31 29 28
g;/'ﬂ\ YL B F & % (B) 22 20 17
» B BEE (B) / (A) *l00 71.0 69.0 60.7
i 5 5B ¥ % B _(C) 3 0 3
# BFE (C) / (A) %100 9.7 0.0 10.7
it A EOE ¥ £ B O(A) I 3 4
R §7‘—“ Y b B FE E K (B) 0 | |
% BHEE (B) / (A) %100 0.0 33.3 25.0
. 7 5 b R ¥ & K (C) 0 0 0
a # BFE (C) / (A) %100 0.0 0.0 0.0
w # EE ¥ £ K CA)D [ [ [
éﬁ‘ YL B F & % (B) 0 0 0
% % X BFEFE (B) / (A) %100 0.0 0.0 0.0
1t 5 b R ¥ & % (C) 0 0 0
# # BFE (C) / (A) %100 0.0 0.0 0.0
i " E F £ % (A) 12 14 10
= b 8 F & K (B) q 6 3
= BEX (B) / (A) %100 75.0 42.9 30.0
& 5 b B ¥ & ¥ (C) 3 3 0
K BEE (C) / (A) *100 25.0 21,4 0.0

- 134 -




wZcR B 20228 & 2023 20245 E
= OB F £ B O(A) I I 2
B 4t E}% >t B EFE &E B (B) 0 0 0
K% E ;5(@5 gExE (B) / (A) %100 0.0 0.0 0.0
B # * 5 b R ¥ & B (C) 0 0 0
# BEE (C) / (A) *100 0.0 0.0 0.0
EOE F £ % (A) 46 48 45
> b B EFE &E B (B) 31 217 21
5 gEXE (B) / (A) %100 67.4 56. 3 46.7
3 b R FH cc) 6 3 3
BEHER (C) / (A) *100 13.0 6.3 6.7
hi'q OB F £ B O(A) 7 7 4
bl YL B F H K (B) 3 2 [
= BER (B) / (A) %100 42.9 28.6 25.0
s & 5> b B ¥ & K (C) 0 2 0
e BEE (C) / (A) *100 0.0 28.6 0.0
Ea A OB F £ B O(CA) 5 6 5
& 3t BEHE K (B) 2 3
o Z BEx (B) / (A) *100 40.0 50.0 60.0
& 5> b B ¥ & K (C) 0 | 0
% E BFE (C) / (A) *100 0.0 6.7 0.0
H N " E ¥ £ % (A) q 10 q
% YL B F H K (B) 7 6 4
= BER (B) / (A) %100 77.8 60.0 4ty 4
& 5> b B ¥ & K (C) [ 2 0
K BZE (C) / (A) %00 TN 20.0 0.0
" E ¥ £ B O(A) 21 23 18
3L B F H K (B) 12 I 8
3 BEF (B) / (A) *100 57. 1 47.8 44, 4
36 B ¥ HF K (C) I 5 0
BEE (C) / (A) *100 4.8 21.17 0.0
" E ¥ £ B O(A) 15 I 12
o2 ;; 5 5 8 & £ H (B) 7 3 5
%A % 5K BEE (B) / (A) *I00 46.7 54.5 41.7
i # 5 5> b B ¥ & K (C) 2 | 0
BEE (C) / (A) *100 13.3 q. 0.0
" E ¥ £ B O(A) 15 I 12
3L B F H K (B) 7 6 5
3 BEF (B) / (A) *100 46.17 54,5 41.7
36 B FH K (C) 2 I 0
BE#L (C) / (A) *100 13.3 q. 0.0
# ' E ¥ £ % (A) 3 2 2
5 " 5 5 8 % Z B (B) 3 0 0
7 :;; ZEE (B) / (A) *100 100. 0 0.0 0.0
% % 5 5t R ¥ &£ K (C) | 0 0
# BEE (C) / (A) *100 33.3 0.0 0.0
' E ¥ £ % (A) 3 2 2
3L B F H K (B) 3 0 0
Hi BEF (B) / (A) *100 100.0 0.0 0.0
36 B FHE K (C) I 0 0
BEHL (C) / (A) *100 33.3 0.0 0.0
B A = B ¥ £ B (A) 46 46 44
Hf; ﬁi: Db B F & ¥ (B) 19 29 30
W o ;E; GEX (B) / (A) %100 41.3 63.0 68.2
%% % 3 b BREFEH K (C) 3 6 I
# ==
BEL (C) / (A) *100 6.5 13.0 25.0
" E ¥ £ K (A) 46 46 44
36 BEH K (B) 19 29 30
Hi BEE (B) / (A) *100 41.3 63.0 68.2
9 b B F H K (C) 3 6 I
BEE (C) / (A) %100 6.5 13.0 25.0

-135-




B
X
E B =
gﬂ: L E %
o R ;;(( A ) 2022% %
i% E;'QF-Z%E(B)/ (B 12 035 E
¥ - ‘% B ¥ = CA) *100 4 I 02
BERE # (C 33 =
= (C) / « ) -3 2 13
s S f‘ T K A) *100 0 18.2 3
%’ggi%‘#ﬁ(A) 0.0 2 23.1
i5% (B) / (B) 12 18.2 0
2 %iEr* (A) *10 4 K 0
= & (c) / ( C) 33.3 2 13
5—;& 3 fé ¥ oA B A ) *100 0 18.2 3
wr | 9% §FEE (5 %0 : 7.1
3 < = (B) / (B) 12 18.2 0
5 bt B (A)
= ¥ Z ¥ *100 3 3 0.0
¥ % B (cC % '
8 P (c) ~ (A ) -0 3 12
2 % ¥ & K )_*100 3 23,1 |
P ;E?Q:_%fﬁ%ﬁ(p‘) 25.0 2 8.3
wF < = (B) / (B) I 15. 4 0
5 bt B (A)
% " E*Ké(c)/((c) 18.2 i i
= 3 féﬁ'%" + K ?) *100 I 12.5 0
T %g.é’fﬁ%#{ A ) 9.1 0 0.0
N 2 25 % (B) / (B E 0.0 0
& 5 b R % (A) 0
S =4 - *10 10 0
B2 % E 0 .0
. 7 = (C) / ( (Cc) 0.0 0 q
2 m 5 fﬁ‘ﬁ—?‘- TR ’(*) %100 0 0.0 0
K A Egﬁ_éj-ﬂa%ﬁ A 0.0 0 0.0
2 25% (B) / (B) I 0.0 5
5 b B (A)
—— ERETIE: %100 | 10 0.0
A% i_}ﬁ(C)/ﬁ (Cc) q.1 0 q
%38 3 ffﬂ 4 ;5((/?) *100 0 0.0 |
am E’Eﬁ-éjﬂ:—%#{ A ) 0.0 0 .l
* 55 AF% (B) / (B) 5 0.0 |
3 b B (A)
= ¥ Z 3 100 0 5 1.1
BEE % (cC 0 =
3 %a ﬁ:?"_ E R () %100 0 40.0 2
gﬁ_aigﬁ A ) 0.0 l 40.0
25 % (B) / (B 52 20.0 0
5 b iR F (A) *I0 6 46 0
x EE 1rr () L c) .5 6 3
& amr |0 5 ¥ £ K ) *100 u 13.0 4
& S o | iﬂ(( AL) 1 3 0.3
# o - % (B) (B) 6 6.5 i
=4 - 5 B F ,(A)*IOO ' 7 2
. = (C) (cH 16.7 0 7
% 4 Tt E % / (A
s &2 & 3 ; ¥ £ K )_*100 0 0.0 |
15(_?% =F 2 F = iﬂ(( A ) 0.0 I 4.3
L\UP 3 z (B) / ( B ) 16 14.3 0
> b R ¥ _(A) *100 5 1 0
S = ¥ ( .0
7 = (C) ~ ( C) 31.3 2 I
5 B ¥ E K A) *100 3 8.2 2
mgﬁéji _ « A ) 18.8 I 8
B F # K .2
- $ (B) / (B) 22 q. 1 0
0 % (A) *I0 6 18 0
(c)/ D) 7.3 2 I8
(A) *I00 3 1N 3
13.6 2 6.7
1.1 0
0.0

- 136 -




wZcR B 20228 & 2023 20245 E
2 i 2 EOE F £ % (A) 10 17 19
Eﬁ%d_ e >t B EFE &E B (B) I | [
Ea % | BEE (B) / (A) 00 10.0 5.9 5.3
Bty 2 5 5B ¥ &% % (C) 0 0 0
BEHE (C) / (A) *100 0.0 0.0 0.0
EOE F £ % (A) 10 17 19
> b B EFE &E B (B) I | [
5 gEXE (B) / (A) %100 10.0 5.9 5.3
306 R F H K (C) 0 0 0
BEHER (C) / (A) *100 0.0 0.0 0.0
N EOE F £ % (A) 10 13 14
11 i YL B F H K (B) 3 3 4
7 I8 & BER (B) / (A) %100 30.0 23. 1 28.6
i # & 5 5 R % % & (C) [ | |
e BZE (C) / (A) %00 10.0 7.7 71
T OE ¥ £ % (A) 10 13 14
YL B F H K (B) 3 3 4
3 BER (B) / (A) %00 30.0 23. 1 28.6
3 b R F H K (C) I | [
BEHR (C) / (A) *100 10.0 7.7 7.1
27 27 B ¥ £ % (A) 79 76 63
2 gi‘f 5 5 % & % & (B) 31 31 37
LA e 4 1% BEE (B) / (A) *100 39.2 40.8 58.7
B I 5 5 & % & & (C) 3 q 3
z - z - BEHR (C) / (A) *100 3.8 1.8 4.8
" E ¥ £ B O(A) 79 76 63
3L B F H K (B) 31 31 37
B BEF (B) / (A) *100 39.2 40.8 58.17
36 B ¥ HF K (C) 3 q 3
BEE (C) / (A) *100 3.8 1.8 4.8
' E ¥ £ % (A) 374 366 340
3L B F H K (B) 158 147 140
&t BEF (B) / (A) *100 42.2 40.2 41.2
36 B ¥ HF K (C) 34 42 24
BREHR (C) / (A) *100 q.1 1.5 7.1

-137-




<—EBHltELRE>

R 523 20225 & 2023 20245 &
N K OB F £ B O(A) 5 2 [
AN @ it 558 5 £ % (B) 5 2 |
Eﬁl‘;’( g - BER (B) / (A) *l00 100.0 100.0 100.0
7 e &% 5> b B ¥ & K (C) 2 [ [
# BH BEE (C) / (A) *100 40.0 50.0 100, 0
' E ¥ £ % (A) 5 2 [
YL B F H K (B) 5 2 [
=t BER (B) / (A) %00 100.0 100.0 100.0
36 B FH K (C) 2 I [
BEHR (C) / (A) *100 40.0 50.0 100.0
£ ' E ¥ £ % (A) 24 22 26
A B E}iz 3 b B FE HE K (B) 4 | 3
7% & ka)u BER (B) / (A) %100 16.7 4.5 1.5
i # #® 5> b B ¥ & K (C) 2 0 2
fitd EFE (C) / (A) *I00 3.3 0.0 7.7
' E ¥ £ % (A) 24 22 26
3L B F HE K (B) 4 | 3
Hi BEF (B) / (A) *100 16.7 4.5 1.5
36 B FHF K (C) 2 0 2
BER (C) / (A) *100 8.3 0.0 7.7
" E ¥ 4 B (A) 29 24 217
3 b B FE H K (B) q 3 4
&t BEF (B) / (A) *100 31.0 12.5 14.8
36 B ¥ HF K (C) 4 I 3
BEE (C) / (A) *100 13.8 4.2 TN
< B PR FALRAE >
w5 E 52 20225 & 2023 20245 &
R ' OE F £ % (A) 40 45 52
7 > 5 @& 2 & (B) 5 ; 3
_ Y BEE (B) / (A) *I00 5.0 8.9 5.4
; # 5 6 B ¥ % B (C) 7 4 q
%ﬁ BER (C) / (A) *I00 17.5 8.9 17.3
% * ' OEF £ % (A) ql 112 15
#l BE 2 > b B & & K (B) 8 8 12
ﬂ%g BEX (B) / (A) %100 8.8 7.1 10. 4
oy 5 5 B ¥ & B (C) 6 5 4
BEHR (C) / (A) *100 6.6 4.5 3.5
" E ¥ £ B O(A) 131 157 167
3 b B FE H K (B) 14 12 20
3 BEF (B) / (A) *100 10.7 7.6 12.0
36 B ¥ H K (C) 13 q 13
BER (C) / (A) *100 q9.9 5.7 7.8
e . " E ¥ £ B O(A) 86 105 121
Eﬂ::) . 3 b B FE H K (B) 7 q 14
%> % BFER (B) / (A) *100 8. | 8.6 1.6
2 5 b B ¥ &% % (C) [ 4 2
BER (C) / (A) *100 1.2 3.8 1.7
" E ¥ £ B O(CA) 86 105 121
3 b B F H K (B) 7 q 14
3t BEF (B) / (A) %100 8.1 8.6 1.6
36 B ¥ HF K (C) I 4 2
BEL (C) / (A) *100 1.2 3.8 1.7
" E ¥ 4 B (A) 217 262 288
3t B EH K (B) 21 21 34
it BEF (B) / (A) *100 q.7 8.0 1.8
36 BRFHE K (C) 14 13 15
BEE (C) / (A) *100 6.5 5.0 5.2

SE 1) 2025558 | BERFE

2) BREFFEBUCIRE. BHHRFEE ST
3) EEFERI. HEFENSAIBREDFER

4) BEERE. BEEENRETS

5) BMEEFEAT > LFE - FH HEH - BRI REROFE - FH HEH - ERBETREL TS

6) WIBEMREIT > 2280 - FR R - ERIE, WABREOZE - F8L HER - ERED

- 138 -




